
# Min Edit Dist Problem

Minimise the numbers of insertions and deletions to go from Sistr to Tistr
Ex. in 3 editsABCADA → ABADC

Ag:

MED (S.T) =
let

(0, j)
1(i, 0) »

len i pree of f

MED' (IS1. 1T1)

j-1) if Sti-1] = SEj-11
else

A Exponential, but allows subinstance result
reuse here

Andysis

(151+1)(IT| +1) unque subinstances
each subinstance has constant local work

so O(Is|ITI) work, O(IS|+ITI) span
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Menvisation impl
- (Magie) Memoised version of f

fun f9 li,j) = case (inj) of(0, j) >
1(i, 0) >
1(i, j) » if Sti-1] = Stj-1]

1 Memerser lib
= memoiser. memoise (f)

# Menvisation lib

fun memoise f=
let

Fer acte Cia te riche, a) 1
INONE » let

val r= f g a
val -= cache := insert (! cache, a, r)

in r end
" Not thread safe a

Ex. memoised fibb

fin fid then I else
g (n-1) + g(n-2)

fib' = memoiser. memoise f

val MED'

in

9: x → B
f: (x→ 3) → 9 →3

val


	



